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Test 57 [ u

il

Answer
1. What number should go at A? %2 :
5 \"4—/‘\ ? :
o i g 2.
2. What is five minutes past 11 on a digital clock?
3. What fraction of this shape is shaded? 3.
4. How many centimetres in 5 of a metre? B
(Remember: a metre is 100cm long.) 3
5. Orla is twenty years younger than her Dad.
She is 12 years old. What age is her Dad? 6.
6. What is double 14?
7. Emily spent half her pocket money and still has 75 cent left. 7.
How much pocket money does she get? 8
8. What three coins make €57 '
9. A box holds 6 eggs. How many boxes can | fill with 24 eggs? q.
10. Which 3-D shape (solid) does not belong?
10.
Score
Answer
: l.
How many customers can still get 4 litres each?
2. What fraction of this shape is shaded? 2
i 3.
| 3. [ 1+9=9 ,
4. Which number does not belong: 60, 54, 48, 40, 367 ‘
5. James is 15 years old. His uncle is twice his age. &
How old is his uncle?
6. How many hundreds in 9007 6.
7. Complete this magic square.
6] |2 7.
: 6 8
6 .
1 9,
8. 14 metres = 1m 25cm.
12 metres = 1m [_lcm. 10.
9. What is the next odd number after 257
10. Eight lollipops cost 40 cent. What does one cost? Spota
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Lo 900, _, 700, 6007

5. What is the

[)X9=E
§ ' Te;cher gave 3 girls equal shares of 20 cray
' ' ' 2
How many did each girl get?
4. Might a tree be 10 metres or 100 metres tall? b
5.. Eight toffees cost 40 cent. What would 4 toffees COSL!

6. Colour i of this shape.

!: ml

7. A teaspoon holds 5 millilitres of medicine. 5/
How many millilitres of medicine did a child
take if she took one teaspoonful after her ez
breakfast, dinner and tea?

8. Which two 3-D shapes (solids) can roll? l
5 A A0
9. How many lollipops 4 - (» L3 -

le3€h could | buy with 50 cent?

missing term:
ons.

10. What is the largest number that can go in the frame?
_ x8<50

What change did | get? !
- A Jelly-baby’ is 3 cent. How many can | buy witt
3. Find the sum of the odd numbers in this set:

4. AWhich line is the longest?
B

N

5 A gloal is the same as 3 points.
Which team won this game?

6. There are 28 children in a class. 7 of them are
I1-low many boys are there?

4 is the same as 7,

8. Ateaspoon holds 5ml. How many millilitres

if she took one teas '
poonful three times
9. What number goes at A? .

@ X2

N

5

. 10 minutes to walk 1 kilome gt
take him to walk 6 kilometres? lometr. EESEIERY






